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1.

10.

Which agitation was also known as ‘Melmund Samaram’ ?
A) Paliyam Satyagraha B) Shannar Lehala
C) Perinad Lehala D) Ooroottampalam Lehala

Mathrubhumi newspaper was founded by K. P. Kesavamenon in the year
A) 1923 B) 1921 C) 1924 D) 1922

Who wrote the famous book ‘Onnekal Kodi Malayalikal’ ?
A) Appu Nedungadi B) E. K. Nayanar
C) E. M. S. Namboothiripad D) A. K. Gopalan

The real name of Vaikunta Swamikal was

A) Suhodaran B) Muthukutty

C) Kunjan Pillai D) Raman

‘Akhila Thiruvitamcore Navika Thozhilali Sangham’ was founded by
A) Sreenarayana Guru B) Mannath Padmanabhan
C) Ayya Guru D) Velukutty Arayan
Chattampi Swamikal was born in

A) Kannammoola B) Varkala

C) Panmana D) Chempazhanthy
‘Vala Samudhaya Parishkarana Sabha’ was organised by

A) Brahmananda Sivayogi B) C. Kesavan

C) K. P. Karuppan D) Sahodaran Ayyappan
Who was the first Secretary of SNDP ?

A) Dr. Palpu B) C. V. Kunjiraman
C) R. Sankar D) Kumaran Asan

In 1936, Pattini Jatha was organised under the leadership of

A) A. K. Gopalan B) V. T. Bhattathiripad
C) E. Moideen Maulavi D) P. Krishna Pillai
Nasrani Deepika was started on

A) 25" January 1887 B) 30" January 1865
C) 15™ April 1887 D) 20" June 1870
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

First Muslim journal in Kerala

A) Al Hilal B) Kerala Deepakam
C) Swadeshabhimani D) Allslam

The authority to alter the boundaries of states in India rests with
A) State Government B) President

C) Prime Minister D) Parliament

According to Constitution, which one of the following rights cannot be taken away
during emergency ?

A) Right to speak

B) Right to personal liberty

C) Right to freedom of movement

D) Right to organise meeting

Indian Constitution has borrowed the idea of directive principles of State Policy
A) lIreland B) Scotland
C) England D) Germany
Who has the right to address and send messages to the two Houses of Parliament ?
A) Prime Minister B) President
C) Speaker D) Vice President
How many players play on each side in Volleyball ?
A) 7 B) 11 C) 10 D) 6
What is the name of rain water harvesting scheme organised by Kerala Government ?
A) Haritha B) Varsha C) Anugraha D) Jalanidhi
Swacch Bharat Mission was came in to existence on
A) 2" October 2014 B) 2" October 2015
C) 15" August 2014 D) 15™ August 2015
Who won the Man Booker Price for fiction in 2016 ?
A) David Scalay B) Lydia Davis
C) Paul Beatty D) Sarah Perry
Who won the Ezhuthachan Puraskaram of 2016 ?
A) M. T. Vasudevan Nair B) Puthussery Ramachandran
C) Vishnu Narayanan Namboothiri D) C. Radhakrishnan
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21.

22.

23.

24.

25.

26.

27.

The most commonly used stitch is
A) Lock stitch B) Chain stitch
C) Over lock D) Cover stitch

Which is not a Garment Manufacturing System ?
A) Progressive Bundle System

B) Unit Production System

C) Modular Production System

D) KANBAN

RAMSONS is a brand name for

A) Cutting equipments

B) Sewing machines

C) Washing and finishing equipments
)

D) Packing materials

The term LAY is used for

A) No. of layers while cutting

B) A set of layers to be cut at a time

C) Length of a layer
)

D) No. of garments in one marker

For knits, which needle point is recommended ?
A) Sharp point B) Ball point
C) Sharp point with cut D) Pointless

To attach waistband in a Basic Denim Jean, which M/c is mostly used ?
A) SNLS B) FOA
C) Multi Needle Chain Stitch D) Cover Stitch Machine

Which of the following is a Direct Cost ?
A) Labor cost B) Manager’s salary
C) Electricity cost D) Supervisor’'s cost
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28.

29.

30.

31.

32.

33.

34.

35.

Denim is a

A) Fabric B) Jean

C) Trouser D) May be fabric or jean
Which one is having stricter Quality level ?

A) 1.5 AQL B) 2.5 AQL
C) 4.0 AQL D) 5AQL

Which of the following is not a primary color ?

A) Red B) Blue

C) Pink D) Green

Magenta is a color.

A) Primary B) Secondary

C) Tertiary D) None of the above

Productivity can be calculated by
A) Input /Output B) Output/ Input

C) Production x Efficiency D) Production x Utilization

Which of the following needle parts function is to provide the space for thread for easy
entrance into the fabric ?

A) Scarf B) Long groove

C) Needle point D) Needle eye

Slim-legged pant that ends several inches above the ankle, is called as
A) Capri B) Bermuda
C) Short D) Boxer

Motion of feed dog is control by
A) Main shaft B) Rocker shaft
C) Vertical shaft D) Spindle



36.

37.

38.

39.

40.

41.

42.

“NGAI SHING” is associated with
A) Cutting and finishing equipment
B) Sewing machine
C) Surface mounting machines

)

D) Embroidery machines

Smoking is associated with

A) Multi needle chain stitch machine
B)

C) Fusing machines temperature
D)

Boiler

Burning test of fabric

Thread size is denoted by

A) Ticket no. B) Artno.

C) Tenacity D) No. of plies
Shine marks in ironing can be avoided by using

A) Water sprinkler B) Teflon shoe
C) Blow of device D) Pressure foot
Basic unit of textile is

A) Fibre B) Yarn

C) Fabric D) Garment

Which is not a protein fibre ?

A) Flex B) Silk
C) Wool D) Spreader silk
Which is not flame resistance fibre ?
A) Glass B) Asbestos
C) Kevlar D) Jute
-7-

104/2017



104/2017

43. Indirect unit of yarn measuring system is
A) Cotton count
C) Deci tex

44. Which is elastomeric fibre ?
A) Lycra
C) Rubber

45. Bullet proof fabric made of
A) Spandex
C) Kevlar

46. Water insoluble dyes is
A) Direct dyes
C) Acid dyes

B) Tex
D) Denier

B) Spandex
D) All of these

B) Lycra
D) Poly Propylene

B) Reactive
D) Vat dyes

47. Standard relative humidity maintain in the textile testing lab is

A) 60
C) 70

48. Hygrometer is used for
A) Relative humidity

C) Pressure

49. Tendering of cotton fabric is shown by
A) Direct dyes fabric
C) Acid dyes fabric

50. Scouring is not carried out for
A) Cotton
C) Silk

B) 65
D) 75

B) Temperature
D) Time

B) Sulphur dyes fabric
D) Metal complex dyed fabric

B) Wool
D) Polyester



51.

52.

53.

54.

55.

56.

57.

58.

Universal bleaching agent is
A) Bleaching powder
C) Ozone

4 point system is used for
A) Fibre
C) Fabric

Usually sewing thread have
A) Z twist
C) Spiral

Leg twisting is associated with
A) Bowing
C) Differential shrinkage

AQL stands for
A) Acceptable Quality Level
C) Acceptance Quality Limit

Ligne is
A) 1/40 of an inch
C) 1/25 of aninch

Grain Line of a pattern represents
A) Cross wise

C) Length wise

The term CSP for cotton yarn stands for
A) Count Strength Percentage

B) Calculated Strength Percentage

C) Cotton Strength Product

D) Count Strength Product
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B) Hydrogen peroxide
D) Sodium hypochlorite

B) Yarn
D) Garment

twist construction.
B) S twist

D) Balance twist

B) High fabric shrinkage

D) None of the above

B) Agreed Quality Level
D) Accepted Quality Level

B) 1/40 of a centimetre
D) 1/25 of centimetre

grain of the fabric to be cut.
B) Bias
D) Off grain
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59. Which is secondary motion of a loom ?

60.

61.

62.

63.

64.

65.

66.

67.

A) Shedding
C) Beating

Objective of testing is
A) Process control
C) Research

Non-woven fabrics are made by
A) Knitting
C) Interlacement

During weaving shuttle is used for

A) Form the shed
C) Yarn take-up

SPC stands for

A) Specific Process Control

B) Specialized Process Control

C) Statistical Process Control
)

D) Statistical Parametric Control

True denim is
A) Warp dyed, weft undyed
C) 2/1 twill or 3/1 twill weave

Calendaring is the example of
A) Chemical finish
C) Temporary finish

Which is not a knit structure ?

A) Purl B) Interlock

B) Picking
D) Let up and take off

B) Process development
D) All of these

B) Weaving
D) Bonding of fibres

B) Beat up
D) None of these

B) Indigo dyed
D) All of these

B) Mechanical finish
D) Temporary — Mechanical finish

C) Rib D) Honeycomb

Which of the fabric shows maximum creases ?

A) Linen B) Cotton

C) Wool D) Nylon
-10-



68.

69.

70.

71.

72.

73.

74.

75.

Queen of the fibres is
A) Cotton B) Silk C) Lycra

Golden fibre is
A) Jute B) Nylon C) Cotton

Non-woven fabric is made by
A) Thermal bonding B) Felt
C) Mechanical bonding D) All of these

Burning test will differentiate between
A) Cotton/wool B) Cotton/jute C) Cotton/viscose

Blur mark in a fabric is created when

A) A slub of extra piece of yarn is removed from fabric

B) Excess dye is absorbed by the slub

C) Excess beating while weaving
)

D) Uneven calender

Which is not a weaving related defect ?
A) Stop mark B) Slub C) Smash
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D) Nylon

D) Silk

D) None of these

D) Jerk-in

Fabrics that are treated with resin finish to improve wrinkle resistance have a tendency

to become
A) Stiffer B) Stronger
C) More absorbent D) More resistant to abrasion

Glazed chintz is produced by

A) Calendar operation

B) Applications of soil release agents
C) Singeing after dyeing or printing
D) Very close shearing
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76.

77.

78.

79.

80.

81.

82.

Assuming all the quality parameters are same, the yarn that would result in the sheerest
polyester chiffon is the

A) 50 denier B) 45 denier

C) 30 denier D) 75 denier

Mercerizing cotton
A) Improvesiits luster B) Increases absorbency

C) Increase fibre strength D) All of above

Absorbency of a fabric affects its
A) Skin comfort B) Static build-up
C) Dye affinity D) All of above

Which is the most favorable feature of the plain weave fabric ?
A) Most economical to produce

B)

C) 24 harness are required to produce
D)

Durability

Produce diagonal lines on fabric structure

A 30/1 cotton yarn is heavier than
A) 20/1 cotton yarn B) 50/1 cotton yarn
C) 50/2 cotton yarn D) 20/3 cotton yarn

Gabardine, Chino, Denim and Tweed are similar in that all are examples of

A) Fabrics made in a variation of the plain weave

B) Twills

C) Fabrics made on jacquard looms
)

D) Weft pile weaves

Luster in Satin fabrics is a result of
A) Long floats B) Filament yarns
C) A) and B) both are correct D) None of the above
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83.

84.

85.

86.

87.

88.

89.

90.

91.

Dobby shirting is a name of fabric which has
A) An extra set of yarns that are cut

B) Detailed and intricate designs

C) Small geometric designs woven in

D) Two sets of colored yarns to create pattern

Which of the following is an International Care Labelling System ?
A) HIGHTEX B) GINETEX C) FINETEX D) CARETEX

The number of steps in an inspection loop are
A) 4 B) 5 C) 6 D) 7

The term TQM stands for

A) Total Quality Management
B) Total Quantity Management
C) Total Quality Measurement
D) Total Quantity Measurement

Which type of Notch is used in apparel cutting for balancing ?
A) “I”notch B) “C” notch C) “L” notch D) “X” notch
The last phase of a fashion cycle is

A) Rise B) Decline C) Peak D) Obsolescence
The Inco term, FOB stands for

A) Fix On Board B) Freight On Board

C) Fashion On Board D) None of the above

Type of sleeve in a sports knit wear/hosiery garment is

A) Puff sleeve B) Cap sleeve

C) Raglan sleeve D) Kimono

The initial sample submitted to buyer in substitute material (fabric and trims) is called

A) Salesman sample B) Proto sample
C) Fit sample D) TOP sample
-13-



104/2017 T T 0

92. Which of the following is not a principle of design ?
A) Balance B) Proportion C) Thrust D) Rhythm

93. Which of the following is not a collar type ?
A) Peter pan B) French C) Shawl D) Stand

94. Kimono dress is associated with
A) China B) Japan C) Russia D) South Korea

95. The neck line which is cut down in front or back to a sharp point is called as
A) Jewel B) V C) Slit D) U

96. Moderately low, but very wide angular or square neckline is called as
A) Off shoulder B) V C) Florentine D) U

97. Collars having a straight or convex neckline edge are called
A) Band collars B) High stand
C) Low stand D) Chinese collar

98. A band collar with square or rounded ends that do not quite meet at center front, is

called as
A) Band basic collars B) Chinese collar or Nehru collar
C) Victorian collar D) None of the above

99. Narrow collar with rounded ends at center front, is called as
A) Band basic collars
B)
C) Victorian collar
D)

Chinese collar or Nehru collar

Peter pan collar

100. Bertha is a type of
A) Collar B) Neckline
C) Garmenttype D) Sleeve
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